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D-DE1 Practice Assessment —

1. An illness is spreading through a population of \' people. Let R represent the number of people with
the illness. The rate with. respect to time of people with the 1Hnes@owmg is dlrectly proportlonal to
L iy
the product of the number of people with the illness and the square rootl of the populatlon size. Write a
differential equation that dodels this situation. _— f i
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D-DE3:
2. Consider the differential equation y’ = 2y — 3. Find the general solution y.
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D-DE2: Consider the differential equation o 4y“x

3. Find the particular solution with initial condition {1,1/3)
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